

Year 4 Arithmetic Challenge 3

$96 \div 8 = \underline{\hspace{2cm}}$	$856 + 100 = \underline{\hspace{2cm}}$	$\frac{5}{11} - \frac{2}{11} = \underline{\hspace{2cm}}$
$756 + 7256 = \underline{\hspace{2cm}}$	$984 \div 100 = \underline{\hspace{2cm}}$	$23.4 \times 1000 = \underline{\hspace{2cm}}$
$9567 - 79 = \underline{\hspace{2cm}}$	$722 - 76 = \underline{\hspace{2cm}}$	$\frac{2}{9} + \frac{8}{9} = \underline{\hspace{2cm}}$
$35 \times 4 = \underline{\hspace{2cm}}$	$94 \times 5 = \underline{\hspace{2cm}}$	$140 \div 7 = \underline{\hspace{2cm}}$
$879 - 389 = \underline{\hspace{2cm}}$	$6070 + 100 = \underline{\hspace{2cm}}$	$7.1 \times 100 = \underline{\hspace{2cm}}$

Year 4 Arithmetic Challenge 3

Answers

$96 \div 8 = \mathbf{12}$	$856 + 100 = \mathbf{956}$	$\frac{5}{11} - \frac{2}{11} = \frac{3}{11}$
$756 + 7256 = \mathbf{8012}$	$984 \div 100 = \mathbf{9.84}$	$23.4 \times 1000 = \mathbf{23\,400}$
$9567 - 79 = \mathbf{9488}$	$722 - 76 = \mathbf{646}$	$\frac{2}{9} + \frac{8}{9} = \frac{10}{9}$ or $1\frac{1}{9}$
$35 \times 4 = \mathbf{140}$	$94 \times 5 = \mathbf{470}$	$140 \div 7 = \mathbf{20}$
$879 - 389 = \mathbf{490}$	$6070 + 100 = \mathbf{6170}$	$7.1 \times 100 = \mathbf{710}$